WNE S SEFRF100m (&L

T 34H0E+8

148 e L4 2%E e 22
Ve A R B Wi i STV 1 Ve o A CER) B i A oah il
1 1
2 HE o #EIAC 7 s 2 sk #EIAC 3 163
3 W REE Bk b 1 1504 3 HE 2R W Ly 77 5 16. 88 T
4 HH bR MnESS2 6 16.26 4 &R Ffy Bk L 6 124
5 B KA @Y= 2 1606 5 e By 2= T w22
6 K A #EJAC 4 158 6 W E wEELs57 4 6
7 W EA haEB5L 3 15.68 7 A W WEIAC 1 1619
8 [ 3D HEE s 7 E 16. 04 :: 8 : ::
3% . 0.5 b
v U= R4 (BEAR) R e Fobk apvh mi - 3.0)
1 _ e EACER) P, L
2 R MnnEsS2 6 10 1 A KOF % ke 7 16.51
3 JEE R BETAC _ 3 1560 2 Jrb s BUET AC 5 16. 08
4 LEPSd e I 4 93 iR w2 BEIAC 4 16.03
5 RS Hidht f@ly==7 1 148 4 ARy Hidst By 2 =7 1 15.16
6 R it wWelE Ly 57 5 1632 5 B kit WLY2=7 3 1561
7 wiE m WEIAC 2 1542 6 IR BEEE 2 1530
8 - o Wl #Ak hEESIS 6 16.28
8 IRFAS RiER WEE Ly 27 8 16.60
o _
MFE 5L TF100m (@)
T3 3KH0E+8
15 m: 08 288 me 2
v PN - R CEAR) B, Wi gk i m v PN - R (AR B L S
1 PiIS LY T ARHEE RIS 7 1664 1 w2 s e - 3 1626
2 [ SO w77 2 1512 2 S NS MAAEIRELS 6 16,67
3 ANBR AR BrHpE L 4 1565 3 el i B HIpE - Z 17.88 :_
1 A R wingsss 8 e 4 W W wWnEs % 8 .21 _
5 WA N f@ya=7 3 1538 5 N AAER BHE] AC E 6.5
6 =k B BIEJ AC 5 1582 6 B iz LY 2 =7 s 1621
7 e E WHEERRS 6 1643 7 T R R 7 lesL
8 LR % MHTAY—k 1 472 8 Bk B b |- 1 1554
9 A ERE heES D& Z 15.83 ::
3% e 100 bz 3
v U= A () Al Iz FLEk 2pvh Eid JE (- 2.8)
1 RE B HHE]AC 8 183 v N = R4 (AR P s AiEk apvh
2 BRI B By - 1 183 1 D HE A H RS 8 16.11
3 Wl EHE A RERIE 3 1569 2 fagk EEE e b 5 15.72
4 A L #H&7TAY—F 2 1560 3 R e £ 41555
5 9 Wekelky 57 5 1653 4 TR EAE &7 AY—k 1 14.85
6 L5 S MnpEsS2 71660 5 PR N LY 2 =7 E 15. 52
7 Lk w@a=7 6 1657 6 HE_0%Y WKL, 7 2 1533
8 WA B mEEE 4 32 1 FA L BT AY—F 1 15.89
8 INBR A By ke b _ 6 1579

—4—




